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ECONOMICS
( Regular Generic )

Paper : ECO-RG-6016

( Economic Development and Policy of India—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate Sull marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
o racared e Tee for

(a) What is the full form of NABARD?
NABARD 9 5% So1e51 3, forar |

(b) Define Balance of Payments.
A& cowiermE e ferg |
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(2)

(c) Mention one important problem of
agricultural marketing in India.

SAeT PR IHAT GO BFgey N GeAq F40 |

(d) What is meant by land reforms?

St e et & Jom 2

(e) In which year was WTO established?
@ 5% WTO 28 tafet ?

(). Mention one cause of rural indebted-
ness in India.

TRATS AN RO 96 FE TCEY 91 |

(g9 The Green Revolution focussed on the
production of milk and milk products.

'( Write True or False )

civs Red 24w o1 SRS 1% AE NSO
Aid Teow 341 |
(T A w1y o )

(h) What is food security? |
I w0 2
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(3)

(i) State one weakness of industrial sector
of India.
SO BTIe WA b1 STl Tomy 41 |
() What is Jhum cultivation?
IV S 2
2. Answer the following questions : 2x5=10
TS il erpTRs Teq o :
(a) Is Balance of Payments always in
balance? =
“IfRCNET =PI I ST T 2
(b) Define Green Revolution.
cioe R sigel forr |
(0 What is regional variation in
agriculture?
IR wreefers (foa 92
(d) Mention two sources of agricultural
credit in India.
OAeTH© PR Y Yo Beo| 1 Tead 790 |
(e) Define large-scale industries.
2R AR BraerR el o |
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(4)

3. Answer any four of the following questions :
5x4=20

oot for eprye R e oo e e

(a) Briefly discuss about the New Industrial
Policy, 1991.

o8y T WA Sraifie e Rew v
AT 9 |

(b) Discuss the trends in the value of
India’s foreign trade.

ey @FCOE S P AfSHET s
GG 47 |

(0 What are the causes 'of low agricultural
productivity in Indian agriculture?

oReT FReEe B TR BeE TP
o R

(d) Explain the difference between Foreign
Direct Investment and Foreign Portfolio
Investment.

e eore RfVgns s R obeRre
RfvcamR Tem oef o |
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(5)

(e) Briefly explain the causes of dis-
equilibrium in the Balance of Payments.

(FARE SNOIS SIRRTE[A FAPTZ TS
[ 9|

() Briefly explain the performance of
public sector industries in India.

SRS I 9T TR APl FoNE
SYCF T {0 |

4. Answer any four of the following questions :
10x4=40

were fral 2pTged R e oIk Ted st -

(a) What are the components of Balance of
Payments? Distinguish between
Current Account and Capital Account of
Balance of Payments. 5+5=10

@R WeR TR R R e
THOR Bfore fEvre o JoreAl TR A AL
foran |

(b) Explain the various problems of Indian
agriculture.

Srcste it rE RS CEREMIEEER RIS
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(c)

(d)

(e)

(9)

(6)

Explain the objectives and role of World
Trade Organization.

Ry e g Soaen S S A F41

Explain the role of foreign direct
investment in a developing country like
India.

SRS WA TREE (PO A9r® (AP
RV i 41 |

Discuss various objectives of land
reform policy in India.

SRed PR PR AT TrRIPTHR. e
Sl

Explain the role of small-scale and
cottage industries in India. Also
distinguish between the two. 5+5=10

SR Y WE FH SCUH PR TR
41 | 2o red NYIPR Soey 91 |

Discuss the trends in industrial
production in India during the planning
period.

AFEAT FECA© ©Feq Sfae SeoqwI

SSYRR REca Sicawan 41 |
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(7)

(h) Explain the effects of agricultural price
policy in India.

SISS TR o1 M ersrazam ad 741

* ok K
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